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1-10 93 86 79 71 64 57 50 43 36 29
11-14 21 14 7 0

Risposte

1. 45

2. 94

3. 94

4. 29

5. 26

6. 41

7. 12

8. 61

9. 64

10. 51

11. 30

12. 6

13. 44

14. 5

Determina il numero che bilancia correttamente ogni equazione.

1) 28 +      45      = 111 - 38 2) 42 + 35 + 2 =      94      - 15

3)      94      - 12 = 29 + 12 + 41 4) 36 + 43 = 50 +      29     

5) 48 - 32 =      26      - 10 6) 42 + 18 +      41      = 5 + 96

7) 95 - 46 =      12      + 9 + 28 8) 47 - 11 =      61      - 25

9) 68 - 43 =      64      - 39 10) 41 + 19 =      51      + 9

11) 30 + 12 = 72 -      30     12) 54 - 22 =      6       + 26

13) 15 +      44      = 45 + 14 14)      5       + 45 = 9 + 22 + 19
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Semplificato

Determina il numero che bilancia correttamente ogni equazione.

44 51 30 94 64 41 45

6 12 5 26 94 61 29

1) 28 +      45      = 111 - 38 2) 42 + 35 + 2 =      94      - 15

3)      94      - 12 = 29 + 12 + 41 4) 36 + 43 = 50 +      29     

5) 48 - 32 =      26      - 10 6) 42 + 18 +      41      = 5 + 96

7) 95 - 46 =      12      + 9 + 28 8) 47 - 11 =      61      - 25

9) 68 - 43 =      64      - 39 10) 41 + 19 =      51      + 9

11) 30 + 12 = 72 -      30     12) 54 - 22 =      6       + 26

13) 15 +      44      = 45 + 14 14)      5       + 45 = 9 + 22 + 19
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